Name: ___________________________________________________________________
          Period: ______________


Week of November 26th – 30th Guided Notes: Graphs & Linear Equations & y = mx + b
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> Do Now:

1. Identify the slope and y –intercept of this equation:

y = -½x + 7

2. Identify the slope and y –intercept of this equation:

y = 4x

3. Identify the slope and y-intercept of the graph and then 
write an equation for the graph.

Identifying the Equation of the Graph

· To determine which equation matches the graph there are a few steps to follow:
1. Identify the ________________________________________________________ of the graph.
2. ____________________________________________________________________________________ based on the y-intercept.
3. Identify the __________________________________________ of the graph.
4. __________________________________________________________________________________________ based on the slope.
5. _______________________________________________________________________________________________ with the graph.


Example Problems: Which linear equation best represents the graph?

	1.
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•a) y = x + 2                c) y = x - 3

•b) y = 2x -2                d) y = 3x - 1
	2.
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•a) y = 2x +3      c) y = x + 3

•b) y = 2x – 3     d) y = x - 3

	3.
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•a) y = 3x – 4         c) y = 3x + 4

•b) y = -3x – 4        d) y = -3x + 4


	4.
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a) y = x + 1


c) y = ½x + 1

b) y = ½x – 1


d) y = x - 1 

	5. 
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a)  y = 2x + 1


c)  y = 2x + ½ 

b)  y = x + ½ 


d)  y = x + 1   

	6.
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a)  y = 3x – 1



c)  y = 3x + 1

b)  y = -3x – 1



d)  y = -3x + 1   

	7.
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a)  y = x – 4


c)  y = x + 4

b)  y = -x – 4


d)  y = -x + 4   

	8.
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a)  y = x + 2


c)  y = 2x + 1

b)  y = 2x – 1


d)  y = x - 2




Graphing Linear Equations
· In order to graph a linear equation, we need to follow a few steps and utilize the slope-intercept form equation.

1. ______________________________________________________________________________________________ of the equation.

2. ______________________________________________________________________________________on the y-axis (0, y-int.).

3. ________________________________________________________________________________ of the equation.

4. From the y-intercept, ____________________________________________________   given the value of the slope.

5. Repeat step 4 a few times and connect the dots to finalize your graph.

Example Directions: Plot the equations.
	9.   Plot y = -2x + ½ 
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	10.   Plot y = 2x - 2
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	11.  Plot y = -2x + 2
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	12.  Plot y = 3x + 1
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	13.  Plot y = ½x + 3
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	14.  Plot y = 4x -6
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Tuesday/Wednesday – November 27th/28th 
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> Do Now:
1. Which linear equation best represents the graph?

a) y = 3x +2

b) y = 3x – 1

c) y = 3x – 2

d) y = 3x + 1
2. Plot the following equation:
y = -3x + 2

[image: image15.png]



Converting from Standard Form to Slope Intercept Form
Key things to remember!


(when written in slope-int. form)
· 1) __________________________________________________________________________________________________________________
· 2) __________________________________________________________________________________________________________________
· 3) __________________________________________________________________________________________________________________
Example Problems: Convert to slope intercept form if necessary and identify the slope and y-int.

	1. y – 8x = 2
	2. -8y – 4x= 16 


	3. -4x + 2y = 10 


	4.  4x = 2y + 7 



	5.   7 = -2y + 6x 


	6. y = 9 +x 


	7.   24y + 8 = -48x 


	8.   2y + 4x = 20 



	9.   27y = -9 +18x 


	10.   6x = 10y - 8 



	11. 21x = 7y - 14 


	12. 60x = 20y - 80 




